Tasks — Worksheet 8 — Practice - Answers

1. Fill in the correct pronoun — reflexive or objective:
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you

him

himself

her

yourself

me

him

herself

yourself/ yourselves

. yourself/ yourselves
. herself (the action is expected to be difficult for a disabled person, therefore we use

the reflexive here, although normally ‘dress, wash, etc.” are not used with
reflexives)

ourselves

itself

him

myself

. Insert appropriate emphatic pronouns:

The manager himself/ herself welcomed us ... ../ us to the hotel himself/ herself.
The house itself was small, but the garden was enormous.

She painted them herself.

My sister designs all these clothes herself.

The princess herself visited the children in hospital.

The song itself wasn’t very good........

I write them myself.

. Fill in the pronouns — ‘each other’ or reflexive:

each other
ourselves

each other
each other
themselves
themselves
each other
each other

Choose the correct pronoun:

that
that
this
that; those



that
this
that
that
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5. Rephrasing:

Do you think the money is hers?

Are these tickets yours?

I can’t stand that husband of hers.

I don’t have a flat of my own yet.

Rachel came to the party with a cousin of hers.
I borrowed some magazines of yours.

He would like to have a room of his own.
Harriet introduced me to some friends of hers.
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6. Fill in ‘what’ or ‘which’:
1. which
2. what
3. which
4. what / which
5. which
6. what
7. which
8. what
7. Fill in the appropriate relative pronouns:
1. who / that
2. which / that
3. which / that
4. which / that
5. which / that
6. who / that
7. which / that
8. which / that
9. which / that
10. who / that
11. whose
12. who / that
13. about whom
14. to which
15. who / that
16. who / that
17. that
18. that

We can leave out the pronouns in: sentence 3,4, 5,7, 8,9, 16, 18



